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Before filling the OMR Answer-Sheet, the candidate must ensure that all the pages from 1-64 are printed
correctly in the Question Booklet. In case of any discrepancy, immediately replace your Question Booklet.

INSTRUCTIONS

Do not open the Question Booklet before 01:55 p.m. in the Examination Hall.

Read the question carefully before marking the right answer in the appropriate circle of
the OMR Answer-Sheet.

No candidate will be allowed to enter or leave the Examination Hall during the examination hours.

Any candidate found using unfair means in the examination halls/rooms shall be
disqualified.

Candidate should clearly write his/her Roll No. in the space provided in the Question
Booklet in case of using Non-Standard OMR Answer-Sheet.

Candidates will have to sign twice. Once in the Attendance/Roll Sheet presented by the
Invigilator on duty after taking their seats in the Examination Hall, and the other, at the
time of handing over their Question Booklet and OMR Answer-Sheet to the Invigilator after
the completion of the Examination. Cases where a candidate has not signed while submitting
the OMR Answer sheet and the Question Booklet, he/she shall be treated as absent.

Candidate should do all the necessary Rough Work on the Question Booklet in the space
provided. Rough Work should not be done on the OMR Answer-Sheet or on any other paper.
If any Rough Work is done on the OMR Answer-Sheet, the OMR Answer-Sheet will not be
assessed.

There will be one single OMR Answer-Sheet for all the questions. No extra OMR
Answer-Sheet will be provided for any mistake or correction.

The OMR Answer-Sheet will be provided along with the Question Booklet. Candidate should
fill up the particulars in the OMR Answer-Sheet, i.e., Question Booklet No., Question
Booklet Code, etc., carefully with blue/black ball-point pen only.

The Examination is of 2 hours duration and will consist of 100 questions of 1.75 mark against
each question.

There is no negative marking for any wrong answer.

Candidate should note that each question is given in multilingual form, viz., in Assamese/
Bengali/Bodo/Hindi/English medium/version for his/her convenience and ready reference.
In case of any discrepancy or confusion in the medium /version, the English version will be
treated as the authentic version.

Very Important :

The candidate should make sure that the corresponding Question Booklet Code is
properly written/shaded in the OMR Answer-Sheet by him/her. For example, if the
candidate gets Question Booklet Code ‘B’, then he/she should fill up ‘B’ in the box
provided in the OMR Answer-Sheet and also shade the circle ‘B’ in the OMR Answer-
Sheet. In case of any discrepancy in the Question Booklet, the candidate should
immediately report the matter to the Invigilator for replacement.

The candidate has to return the Question Booklet along with the OMR Answer-Sheet to
the Invigilator before leaving the Examination Hall failing which he/she will be
considered absent.
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formtiz@nt
AT 01:55 I SAITS epIFe T4+ |
OMR T&9 “[qq I JGUHS W TGIh! Bfes 3919 SIS TGt AR A6 e |

o [T BieT 47| TES (@I AT 9 T [Toqo @ S| 9 T 4 IR
oS 7R |

® I (I 4RI SPIR TAR S[oT B AN SO Tlgydl T A PR Tevewi 3,
(S0B (&P S} [l D 1 27 |

® Non-Standard OMR JRZS 0 AAE o @5 799 Fired e 53w ~Es
[GIREGITSE

o PTG IR0 Tl TolfEs /(@IeT #[qe YAIK FAFR IR M7, QI (O STENCS A0l
FHS TP A2 TG TS AF GOl OMR TGI9g IF IO F5es ol
R TS | (RICT IR $oifERs /@1 siqe eiaE I Fe 91, (OS2 (& (ST
eiFES e 4f T 2T |

o AIFINE FFEN 99 ARG U5l (rough) FIN eEpIFeS 7l 5oz Q@ AR |
AFNE 461 (rough) TN TG A1 A1 S (FIC 476 Flarers I G | Teq o[q T
@2 {541 (rough) TN *F=FIRNE (9, (SFOAZ T (S TG “[@q FeHR 1 727 |

o ST T AW AHF 939 Vg OMR T& a2 7Rl 27 | T 20 I Wam FRQE
Sfoe @It Teq 79 i 72’7 |

® ENIFOT TS ¥ OMR Teq ~g il 27 | *[=Ifw@ ¢z g OMR Ted 7o
ERPITSY TH9, RFTS F'T, TGV AR (FIe o1l /F 2N Je-23F I 7 Fl
Al |

® “ISIHIF TN 2 T TF euFFoe 100 b 2 AfFT WA 2TSF0h! A W@ 1.75 TSP
2 |

® E Teq NI (PIG! AN 77 e |

® JIEER 9 f1f7d A AHINET OMR T 2I[qS el /F &l I97-2135 (02 TFR2
QAN |

o I HAE (TSR ARud TTo AR @ eFFeT PR AEIRT 24, @ PN,
e, 0T, T TE B[AE | 92 (FES NN A RFITS @I 4]0 pets qizar e
(oIS PRI 27 To BRAMG TRFREBIP2. 2T Wi e 9o A |

Important Instruction :

o Q% Moo @1l Siv® ATe LAFITET T'T 776! OMR Teq #iqg 3 siz® fori =7 |
AR TRCA, AFINE A2 9 RFIFOT 6 ‘B’ LfFe OMR Te 7] WS 5I2© B’
1R AR =i WS 3@ B’ 161 33 39 AR | eerres et fRemite @R Aredie
TEHNR T TR ST ARNPIFOI FHeis it 77 |

o 2 I Gl FAT TS AT FITTI 2SS OMR TGF “[TF ANTS LWFIFSIT
ol v = 1ifeR | SRt stfepidiem Srie e Rabo 27 |
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IGERISE]
79 01:55 TR #I0d @Pofaib Y@= =1 |

OMR Tes g AL JSLC® W Tex(i b I 7Jtd &ifl AU TS 16 |

o 5! TS AP ST @ N 9w TP oo @ S2@l S8 FF QA IR
ST SRS (ST = A |

o i (FI I SPIR TAR SqETT I A TAE SEmd T AW FRPTR oo I,
W S 190 A0 Reas= F91 23 |

® T YJITIT OMR T@d “Itad &) RIS e @ 799 eRo[tad WS 2 ™8
foT(® 27 |

o “RrFIFaIE AR (el THFERS /1T It I FITE TR0 R(A, AR S A
FCF TP AT FAK R @R TSR OMR T€d1 @R o[t s o edid
R | @ A oS /@ itg T ORI TR A1 IR, SRE SiF SHiEe I
a1°ly T 204 |

o [SrHIT AT HE ARG T (rough) IS 2908 (ST BT FACS ARE | 2wl
2T (rough) IS TEI2G 1 T (FIF LR FI9E FICS AR 1 | AW 27wt @3 27!
(rough) T TEIITq I, OF €2 @RI TR a1 2 1 |

® T T & AT 4FH NG OMR TG e W@ | G (A A 8o IR &
SR (e Teaig (e I A |

® &vItad M b OMR Tea7iq (eA B | *RIIFE (12 (U8 OMR TeReita ei%taq
T, 2GR (PTG By ARG WG <ieT /0T I -G oI =ll 1o 00 27 |

o SR AN 2 TG @R 29tg 100 T e AFE @R TS AT &= 1.75 T99 I 4
IR |

® & TG & (I AT 77 AP !l |

® 5% O (FTF & A OMR TGII0F <1161 /FICE I - @B 7] 2T PACS 2(A |

o AN ST R T TS 2@ @ AR 2SN ITSIRE 2[ | @=- SPIarl,
e, 0T, T @R F[AG | @3 GG TN A ORFAC @I @R SO L @RI
P 201 BRG] ALRANTR &S an 03 9[°l) FAEH |

Important Instruction :

o RN Moo 2eq Tt ATT etal FIC T OMR $eI7tad WS B @14l =F |
TrizgerE, AR SR 2ioiEd (IS ‘B’ AFE OMR Te320a3 FfiR 2w B’ fordre 2@
3R FME 3@ B’ T 10T 00 TR | 2RIGa I SPTRis (TGE AIRreid o Raa M
R 3R 2Pafh 379 TS 910 |

o ! T Is TR e AR (NAFCPT TS OMR T@geitas A0zt eryeiafG e fires
2@ | &t A free 711t weifes I Rfbe =@ |
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ferer=

I 01:55 fomf fernt stAsef v feemswt SeATeT |

TR AMYATE TS Tt gt fem Tre St @ T A |

® 3ITSE QT AR THTE Taa] [SRERE G AR TR 8] TST STHSIE @ ANRAT
BT ST 7T |

o Ifc Aian fommemmn mia war @ wen MSiEE T A Auerat fawrn, feume SRR e
T ST |

® Jf¢ Non-Standard OMR Sheet STERA™ ST, fSA=@EET MaaT-Maf I T8=1 (Roll
No.) & feremmsf &1 Srrmme Tam fort 9 |

o formEETERT ARfCHTET BH™ TATA™ /IR faarsame e gars e 9, fifaame Seer
T 3TSITe @UTETE HTfY S w0 A W g feerg 3T OMR R faergat
TR ST S TuTa | SRaT AR JenferT /B feersare A wsh amaw 3 gars
WA 3T6AT TSATHHT STASITE €1 HATd BT @A =13 TN |

o fsarrEmn Maf MaE Y@M MHT ST rough FERET GiFM™ faaTgamaE @l gRTH |
feMRERT rough EETE! TR foesaTd el g4 TEWH WFTS STERAl [ 8T | fhHw
foemgama IfE & rough FTETE! WIH! 376eT T foaTsE! Y™ Q™ STHE 7T |

o TTHE FHRMA U™ feArEEE THe” OMR A= faems e wrme | maf Steen 19
o St st foem ferette @ s = |

® T faags @rmE TH OMR /™ faars gm@ sme | femeamn & &1 OMR e
ATRATE AT - : T foers Tr o d@m foemst &', vaft +'s smfe safeet
YT =T TaT TMEH Seu=sit @l T |

® HIEH THT 2 U= IR THM fSelsard W9 100 HifY YA 3T WFhHE! FiAEE-l e
e yr@m™ 1.75 TR 9TIA |

o TR fFrafy ara™ Set g’ %R 19 |

o frERT OMR AT feresgama @fer et ST T SerusTia TEs QT 31Tq WTem-r
AT |

o 3TaTe & fift glaerty amam M aieamn wisife @ foems sTermi SiFmReR e
Taie SIrTH, SR 3TEHE, s7ar, U, &< A 3UiS | o ST Jres sl T BiEeEE s -
I TS TS TSI ST SUSETe BITETRENT HTs BT §HHT AT A |
Important Instruction :

o foAmrrarn e wHrEn wiwife g e % 'sEt OMR e faemsf for sermeme o
a2t A | el afed femrmmn aam wam fTeef w'e 4B @t fmam faenet o
SR G e w'er ‘B o anme i for seeEt e wremHat A |

® 3THNT WG ARTAE fam femreamen Amfemfs smamma OMR fmam gt evna
i feetgEian ST gl ARTH | TSTee1 STHWIE FREt Taned fEems THemmE S |
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frdw

U 01:55 T | Y& Y9 Yierent 7 @ |

OMR STR-U= & 3IUFe I | Jg I fga o € gg a4t T3 AaHiges U |

o vilieT Tord T foeft wiemeff i wdian wam o wiat yET 1o wier e Bidt S i 1A
Tl < St |

o fe I ghiemeff Torq qlent 3TUTT B A1 W IfectRad FEHt 1 oot T 7, 91 39 3™
U T SR |

® Non-Standard OMR 3W-93 % 391 7q eqefl 379a1 Tet =, I gfedent # fou M0 v w
wog 9 4 ford |

o uhianefi @i frfteres g feu o 3ufefa /Ae 3fic W & IR SR T TR, TEeh 9 e o &
¢ 3R g IR WA gf&qeht 3T OMR IT-94 f{iee i Hiad o &G | 3R foreft aliemelf 4
Iufefa /Ue sffe W e gedter T foharm, @t 3| wdienefi s srufeer awen s |

o wiiemeff Tt TE *1 FTEH W (rough) HH T fEaehT § feU MU T 9T weh | wdieeff W
(rough) T IT-9 A7 31 Forell T8 & HITe W & HLFh | I qhienel ST-u9 WHE W
(rough) T AT 2, A T IT-T T JoATeh a1 a1 T |

o Tt Uyt o foru udiemedi ot shae Uk OMR STR-UH €t oo S | Tetdt §H R 91 Ig & &
for whtg riiter ser—v=t & fean wmem |

® ¥ If&ieht < T1Y T OMR IW-v3 fean smom | wieneff 39 fifdse OMR IW-93 # ¥
GfEent ., T GFETehT T I 3T HTHT 1 IS ST Torewor FraeTi & shadt el 31 el sicl-
Ui5e U | W |

® Ui ST FHA 2 FU BTN 3 ¥ YT § 100 T & 3TR Jedieh I o fIw 1,75 376 20 |

® TTeTd 3R o foT0 g TohRTeHR 37eha &1 2 |

o TR 1 38 T8 T 3R OMR IT-T9 W hael el AT HIAT Sid-Tige 94 § |t FIAC
AT B

o wiieneff 79t glaen o foe e T T T gfcaent w1 Tl Sve Sg-wTfves 8T, S — ST,
e, srel, fawdt 37t 3Tt | 30 ey o wren o weehtor 8 foneft wehr 61 7fe o wmem § srgfaen
B W 37ST IS i & HE W S |

Important Instruction :

o uiignedi 7z gHivaa o & foh 39k g1 W9 YRert &1 g OMR SW-UF § && &1 ¥
T /ST foRan e @ | SeTEwREEy, afe ulenelf fi uv gieae @ @i ‘B’ @, @ OMR
IT-U= H g ‘B’ foremn grm 3R gt B’ Rt et 1 g | afe WA gftaert | 18w =
30 e 9 HE femfa fore, A gema wdten Trfierss @ o wva gt agem % |

o Tlten WA BieH ¥ Uget udiendt i Fiersh o 4 OMR STR-US & WY U9 Yieaent ot s
ST BN | ST 3¢ STJUREd o w9 | THel S |
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TITeq B ST9E T, B 7et Al FFhs “I7F AW P GF ST Wl IS
P14 e FFS eSS 7 FRBIE 21¢0) 27 wlfai ?

Q) (B) i€

(©) s+ (D) T

SRCSH -6 SRR TR S (I Asires el ER 7l BT bfee 2o
T AMCEH AF© AGANST 7o fZPTC 9190 20O 23 ?

A 9= (B) o«

(C) b (D) fem

TRATR fommrmg’ 3 wifed, geuil EFSH THRIRRE TS 79 TSR RS
T TSNS TG FHSATH THARIY HASHE 2

(A) @@ (B) T

(C) = (D) U™

T TS TR o ITTHR, Teh TP € o &9 § HIIAT I hid & oI, Teh TaiTaeh
T 1 hH U HH foha T H T WA ITed TS Teieh el HHT AT 18T, 2

A) T (B) =R

(C) = (D) =

According to the Election Commission of India, in order to be recognized as a
National Party, a political party must be treated a recognized political party
in at least how many states ?

(A) One (B) Four

(C) Five (D) Three

e Ife Mg @F JHE @FRE — “F[E @[ T SR SF 12 3T
g ?

(A) TEHE G (B) e alRalled foeTs

(C) Tall=iret e (Al (D) o518 B

foc Srafrerm g uft 17 Sfe, “Tas SR Trers SRR @3 Sif o wret 942 17 2
(A) BHHE SEM (B) 3l a1%ixd RoeTe

(C) TallIeTpae Call<tet (D) o518 B
TERI R ATHST S, “Ieifan i S Ao 3R 37 9@ A= 2
(A) TG NG (B) Tt TMeR fereten

(C) TTeTRs e (D) v g

Freferftaa o @ forem et o “Tardaan 30 Tfég TR 2 3T 38 # S g 2
(A) TGRS (B) &Tet TR fereteh

(C)  TITe HT et (D) wa i
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Who amongst the following said, “Freedom is my birth right and I shall have
it” ?

(A) Chandra Sekhar Azad (B) Bal Gangadhar Tilak
(C) Gopal Krishna Gokhale (D) Bhagat Singh

@ S SRR SN BT TS 19129 TS Iz Ao (2w 2

(A) 1526 (B) 1536

(C) 1556 (D) 1576

A AR (R Ty TSi “[1fere102d I © YR T 2

(A) 1526 (B) 1536

(C) 1556 (D) 1576

T AISUTISTE 3TeheR TR T Tora qHTaa 2 T gregmn S 2

(A) 1526 (B) 1536

(C) 1556 (D) 1576

A 3T G TASTS 3TheR 3TR 37 o o Iy Agg ot |

(A) 1526 (B) 1536

(C) 1556 (D) 1576

The second battle of Panipat fought between Akbar and Hemu was in the
year

(A) 1526 (B) 1536

(C) 1556 (D) 1576

TiIged PRGBSI Ses [gprel FRibTe (@ Rsal TiiHeisRRa A Toionie s
RS “ 6799 Bl 7= (NOTA)” 305! 7rae St 2

(A) =92, 2012 (B) «I@@=4, 2013

(C) wREIRT, 2015 (D) =3RS, 2014

TR 5 Sl ©Fres RupTel FRISE F49 2T1ET T (eihd 6 BReE@
“TAEE @Fe3 A (NOTA)” &S SRS 2

(A) 9%, 2012 (B) «te=d, 2013

(C) S, 2015 (D) ©IERF, 2014

aae 987 (NOTA) @ fifsrastt yram srergeme 2

(A) T, 2012 (B) Taw=R, 2013

(C) SmE, 2015 (D) 3RS, 2014

WA S e STRINT 5 Wi | ferermras gl 3 wde fosheq § “Iuier o & 1§ 721 (Hier)”
Uge! SR e AR fehalT ?

(A) 3R, 2012 (B) Taw=m, 2013

(C) <Had, 2015 (D) 3RS, 2014
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When did the Election Commission of India first enforce the “None Of The
Above (NOTA)” in the voting option in the assembly election in India ?

(A) August, 2012 (B) November, 2013
(C) January, 2015 (D) October, 2014
frafeTtie Mea IRl @F W Ryfe 727 ?

(A) I I-31S R 32 TS IIEAD! TS |

B) BT o7 tarz e A9Re g (VB SeATTFIRT o |

(C) 2B &Itel tarz bl O wieee] Rl Sieq Sralieradr 1S 2ie oxfEs |
(D) ST 7R FAR FUH BGATS SAFES |

T3 e R W =17 2

(A) IWEI -3 (delta) AT IZET S NT=F (mangrove) I |
(B) B 2317 32€ o1& (mica) TAM |

(C) [ Bl° @b TSN I SRTSF G [N |

(D) SIRCSH OB SES JREH NG TN BEHIE SAES |
MR Se37 21 787 ?

(A) Fe@aH §-g19 371 g S5Rgs Qe §U9 g A |

(B) W31 gHi srEfgs st wrseht g ared |

(C) YA UAdTE 3TTe AT Sedel &1 STENTISAT STe 5T g |

(D) WRafd s3fgs TR Mere ¢ 3 foeien rase € |
frafafga g s o e AR A& R ?

(A) GTEH ST G o ol g B O HIERF |

(B) == fervar <1 e §IST Y IATCH < 2 |

(C) ST EI T Y- 9T &7 & S WA o ot Wiaiea ¢ |

(D) 9N 61 Fe8 FE SAqcea @R I it gt ora d e |
Which of the following is NOT a correct statement ?

(A) Sundarbans delta is home to the largest mangrove forest in the world.

(B) China is world’s largest mica producer.
(C) Easter Island is a land area that is antipodal to India.
(D) India’s largest inland salt water lake is located in Gujarat.

F1Ge(B BTG IS 2T GG Mo TGS Hifee ?
() Rl TNER e & (B) <l 77 AR SR
(C) o wifee SRRPT (D) o™ =TS et
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TN SrEfrs @i M AT o3 TIEE PR 2

(A) o sfely RFmcs 31 41 (B) i »}I9 Toig fercareal

(C) TR Rvica IR (D) o g el

qetd AT e 6 GIFE WS A ?

(A) T TR 99T TRATE SAEEAE (B) @i SRt geeem

(C) ToamETEET SHIETAsTd g (D) T Se3TTd SEaRATRE! BRI
Tele T 1 faferitad o © i 91 shew Sniiret foham 7 o ?

(A)  feresft g wlien i aeed (B) W& 9 W Wiaay

(C) ToheH o T HrraTE (D) ferger amn w wfaee

Which one of the following steps did the Rowlatt Act incorporate ?

(A) Forced to buy foreign goods (B) Restriction on wearing Khadi
(C) Imprisonment without trial (D) Restriction on travelling abroad

ST THed MRIFR @i S 22y 7P qi2e R e M s 356 R{ie
emie s ?

(A) 1985, IF. SRSl (B) 1987, 2 WE2@l

(C) 1989, wifext [fq (D) 1992, 3fVal @IS

ST SR TR I I 3R FICE ST A(2e1 R o @ FCf=eT ?

(A) 1985, IF. SRSl (B) 1987, 3% Wec2i@l

(C) 1989, Fifex [ (D) 1992, 3Vl ISt

Rat e fafsrats fifs sz foamfifd araen frmen o s faeifs gan o am 2
(A) 1985, 3R, AAY (B) 1987, 3g Weam

(C) 1989, Wrferm sfisht (D) 1992, 3few s

TR 35 et e 3 fove e 31O el whven = <61 gl 6 S R
fopar 2

(A) 1985, IR, WHHA (B) 1987, 3g HeaH

(C) 1989, wifcHr sfieft (D) 1992, 3few s

In which year did the Supreme Court of India appoint its first woman judge
and whom did it appoint ?

(A) 1985, R. Bhanumathi (B) 1987, Indu Malhotra
(C) 1989, Fatima Beevi (D) 1992, Indira Banerjee

(I BT® SR (SIBIRFIR 31 I FTos 7 21 I2I< #9118 IRICE BT 41 27 ?
(A) 1986 (B) 1988
(©) 1990 (D) 1992
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8. TSRS (SHIRFR &EIToR ST F2PT 21 I (U 18 I 4] 2R TS I ?
(A) 1986 (B) 1988
(C) 1990 (D) 1992
8. URANE Mifé THUEEN THAT AT TN FTSTST SEE! 21 SERMAEE 18 SERfEm o«
HTEATITE GHTEAT ARHH ?
(A) 1986 (B) 1988
(C) 1990 (D) 1992
8. WA H HAgH o1 YRR I i hl <[ 3T ! fohd a9 H 21 99 & TR 18 I9 &
fem mar o 2
(A) 1986 (B) 1988
(C) 1990 (D) 1992
8. The minimum age for acquiring voting right in India was reduced from
21 years to 18 years, in the year
(A) 1986 (B) 1988
(C) 1990 (D) 1992
9. IS IR ST G FleFo “[1 Walte Bes i ?
(A) 1911 (B) 1913
(C) 1907 (D) 1910
9. I TR (P ICT SRR A (FIEFTS! (T Taice ZiSEs FRee?
(A) 1911 (B) 1913
(C) 1907 (D) 1910
9. o HIEYERE fafewan yraf TSuraf e ST fieefiara Are™H ?
(A) 1911 (B) 1913
(C) 1907 (D) 1910
9. 7SI A ford I WA ST T <l ehictehtal | feeett wermTata fem o ?
(A) 1911 (B) 1913
(C) 1907 (D) 1910
9. In which year did the British transfer the capital of India from Calcutta to
Delhi ?
(A) 1911 (B) 1913
(C) 1907 (D) 1910
10. “S@EIIER WRIETIT I PR (I 912 Sz ?
A TRk (B) W ¢zl
(C) M5 fu.. (D) FIo%S
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10. <SS ifes F {EK M @7 AmaMe (@GR S[ES 2

A) onife (B) T2 (The Hague)
(C) <IMIH e (D) fIeexs
10. R fafsranfats e oo’ s =g ?
(A) ufE (B) ©&
(C) arfymTes (D) =i
10. STAUER =TT 1 JEIT el fRId 2 ?
(A) ufE B) =
(C) aifymTes (D) =ih
10. Where is the Headquarters of the International Court of Justice located ?
(A) Paris (B) The Hague
(C) Washington D.C. (D) New York

11. T3 Do “oTeedq (SCCTel o1 B[S “Si2p<a” Sy frarl (2fwet ?

(A) 1867 (B) 1858
(C) 1876 (D) 1905
11. SRCSF T (SAIEENP SR RN (@ I S| 2R ?
(A) 1867 (B) 1858
(C) 1876 D) 1905
11. 99 ARUTHE rEErs’ ol “HRat To S | 8™ e 2
(A) 1867 (B) 1858
(C) 1876 (D) 1905
11. forg o9 d YA o T ST Bl SRETR’ shl 3aTfer & 18 off 2
(A) 1867 (B) 1858
(C) 1876 (D) 1905
11. In which year the title ‘Viceroy’ was given to ‘Governor General of India’ ?
(A) 1867 (B) 1858
(C) 1876 (D) 1905
12. fyfriis @G AR 2R SR AcTitere GRE R Frefest '3 5718 @ ?
(A) oS SpIs! (B) & SPIo!
(C) U SPI! (D) ~%e Spyol
12. o Sw@ie @ MR [Rae @3 w5 qeeiele Sl s sifve zmie ?
(A) faS" Swhm@ (B) A STPTA
(C) TP TP (D) % STHET
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12. 9EIvE SRR TMiemaT 99 Giafasni werf @ fhers 2

(A) eIt (B) f&far i
(C) Tiwim (D) I IR

12. diSicie e gftwe fmfafaa forg g gaum afom 2 2
&) H s (B) wmael srgEeh
(C) Bl g (D) =l srgeeh

12. Bodoland Territorial Council is a result of which of the following
Constitutional provisions ?

(A) Second Schedule (B) Seventh Schedule
(C) Sixth Schedule (D) Fifth Schedule
13. SIPTR RAF-I7CH! FS S&qiEs ?
(A)  SFEIHe e (B) TR
(C) wfesm (D) MeeES
13. “IPeR (Pakyong) RN SRS :
(A) SR o™ (B) P
(C) wIsm (D) SN
13. TR TSI §ET € 7
(A)  ITRITEA T (B) Tufesn
(C) =M (D) Ty
13. AN BATS 3T Hal (RIA & 7
(A) ITRUTEA T (B) fufem
(C) =M D) fism
13. Pakyong airport is located in
(A) Arunachal Pradesh (B) Sikkim
(C) Manipur (D) Mizoram
14. I3 419 S0 B0 SRS ©I &t &lig foafb Carm -
A) e IT (B) 2
©) =S (D) ™
14. T3 o0 PT ZRQTEITS 71 (TP @91 @ &lIA1F o «{he I
A) GRS T (B) el
(©) =fs (D) ™
14. TSW1 AEHATE T3S ST FUETET T TR AR Grmgst | 7
(A) &8 T BIS HEt (B) Wt ms
(C) #Ha (D) =&
14, ¥ TS0 ST 9 UTC S STl o 3T 9] 3Th(d & -
(A) T H S B) =
(C) =t (D) ==
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14. The most common animal figure found at all the Harappan sites is the

(A) Unihorn bull (B) Cow
(C) Elephant (D) Tiger
15. GRIIET AGEHRTS SN I ET#iNe SRl o1l TS =TT 7 :
(A) 2T IpreNziR (B) TS TqCIEE
(C) <IN IR (D) T8 909 (51213
15. BEOR GF ATSIIC SN MRS @i G2 o1 orewa FI o
(A) T ez (B) TFIOWRR JRTIRIZ
(C) AINCW IR (D) FACR I (22
15. e Uss1 GUTS THTE 3778 T A= ST TTaT3 TR Joul Me fhamst g3 f e ?
(A) THMS GHIETS (B) hTEH STIIET3
(C) WWET SUNER (D) T8 ST TMETS
15. ST o T IS o G ST ST 3 S 3T AT THE oh i & -
(A) e e (B) TG it
(C) wWHET 9UTEr (D) hET S METS

15. The Chief of the Ahom Military during the reign of Chuhungmung and the
husband of Mula Gabhoru was
(A) Purnananda Buragohain (B) Frashenmung Bor Gohain
(C) Khamsen Borgohain (D) Konseng Borpatra Gohain

16. T@q-5[7 T[S (Pl ST ST AR TN G0 37 72y 2

A) e B) fao

(C) IR (D) FEEw
16. Tex-+4 SRres (i reih @R A0 Sl 7212 7 2

A) e B) fasr

(C) TEleT (D) MeeEN
16. FT-YHS YRAN o€ TSN THHTEIT SRATCITSH ATSTe=T ?

(A) oL (B) frgu

(C) e (D) Ty
16. TR WRA 1 98 TS S SHCTICIT o E1 HIHT HISH T8 hidl §

(A) g (B) Fgu

(C) e D) fism
16. The State of Northeast India that does not share borders with Bangladesh, is

(A) Manipur (B) Tripura

(C) Meghalaya (D) Mizoram
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17. e s e fooas Sifet =i (el :

Q) TG (B) =%

(C) SIaTestl D) foxE
17. SR =P =00 Y0 (79 ! |

(A) TGS B) TH

(C) sl (D) feasm
17. TERTE EHE ToR MRS iR |

(A) T (B) 31

(C) e (D) <HETR
17. fawgsid |

(A) T (B) ¥

(C) 3R (D) €T
17. Find the odd one out.

(A) Gangtok (B) Imphal

(C) Agartala (D) Dimapur

18. “e113 2qIe” TG MRS @i Sifstalidia tics 7=oif$s ?

A e B) I
(C) et (D) WS
18. “a12 RIS TR AHA (e Soeiified 0 I 2
A g B) I
(C) et (D) w2
18. I3 SIS BRSNS 'S TG ofled g ?
A) fafe (B) e
(C) T (D) Hscs
18. fr=fiRad # & o6 &1 g “oits g ST W TG § 7
(A) fufem (B) st
(©) (D) #
18. Which one of the following groups, is the festival “L.ai Haraoba” associated
with ?
(A) Mishings (B) Karbis
(C) Garos (D) Meiteis
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19. e 5{Ch! Teq-77 SN (P 912 SES ?

Q) oo B) TG
(C) TR D) TT
19. lertl gof Tex o4 SRS (IR SAES ?
(CVERSIKEICH] B) TIGF
(C) Wl D) TT
19. ST TehaTRIT E1-HHST WRASTTE S8 € ?
(A) RIS (B) eI
(C) $TAM (D) 3T
19. TR e # e forer R 2 -
(A) ITRAATH (B) TR |
(C) STARH (D) T
19. Where in Northeast India is Kangla fort located ?
(A) Agartala (B) Gangtok
(C) TItanagar (D) Imphal
20. “SIfET” @G RIS (FGR G F{fFe ?
(A TEm (B) T
(C) et (D) fomerf
20. “SILRT *AM5 (I 4TI A F2FS ?
A) T (B) Tz
(C) et (D) Tt
20. “cfrefeht” HIET METETE 2 99 ST Gl g ?
NI (B) stg grH
(C) Torg g™ (D) fog urm
20. “fwr g Frfaiead fora T od A Heg R 2
(&) S o (B) wig v
(C) Toarg o (D) feg o
20. The term “Tirthankaras” is associated with
(A) Jainism (B) Buddhism
(C) Sikhism (D) Hinduism
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21. SRPIFRE @R SRR Sed 1B I @Y 2
(A) Tmie (B) 0oz
(C) Tiz® (D) for
21. RPN (FIAD SRS TSR 9/ ?
A T (B) b
(C) Y (D) fm
21. WRAH BTN THIST HT ?
(A) TET® (B) «d (Banyan tree)
(C) Wi (D)
21. TR TR TR WA 1 TFH 981 HH 18 ?
(A) TEER (B) =UTE
(C) dWua D) ™
21. Which is officially the National tree of India ?
(A) Deodar (B) Banyan
(C) Peepal (D) Neem
22, TG (allefl @RI ST Sl AWCH! S :
(A) SRR (B) SFHS |
(C) M G (D) <A il
22. SeIferT sigl @ETIfRSTE (Agnes Gonxha Bejaxhui) @ G&TSIE Sl ¥ :
Q) TREE (B) Sl IF
(C) Wi BTl (D) FPoIF fcafrel
22, TR SISl SHH e TR 317 e i 2
NI EE (B) 3reufd 1
(C) wTeR &t (D) foreer fsifeen
22, 58 T T T T SA11A3 T 3R AT T H AT AT 2
(A) e (B) 3uld U
(C) wet e (D) foree faifean
22. Agnes Gonxha Bejaxhui has been more popularly known as
(A) Miraben (B) Arundhati Roy
(C) Mother Teresa (D) Sister Nivedita
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23. T3 S IS Gferares F s S Sz ?2

(A) Rl GFEm (B) IEATE
(C) @=RIG wiEBE (D) &+ @&E
23, T3 (Gl &) TS TG PR ?
A) @GR FEem (B) TR T
(C) wIFRIG wiZThIEe (D) &« @G
23. R AUTHH UrEr Hed (Codes) @ fegsm @ 2
(A)  SSTHA Shepfer (B) dg3Tat O
(C) 3ATes AT (D) < eTS
23. cfiums & foTe g w1 anfassr ferem feran 2
(A) ST Shehferd (B) T3S A
(C) FTeee HTETEH (D) S srE
23. Who invented the codes for Telegraph ?
(A) Benjamin Franklin (B) Samuel Morse
(C) Albert Einstein (D) John Baird

24. S T 7RTS (T (NEFA) 7T Saiete iifee] | NEFA J 761051 == :

(A) North-East Frontier Area (B) North-East Frontier Assembly

(C) North-East Frontier Activity (D) North-East Frontier Agency
24.  SFONDST TR 704 N NEFA 9 5 1 1 2

(A) North-East Frontier Area (B) North-East Frontier Assembly

(C) North-East Frontier Activity (D) North-East Frontier Agency
24, SATETE STEUTHA Fem@! Wi NEFA 1 31 stifersm = 2

(A) North-East Frontier Area (B) North-East Frontier Assembly

(C) North-East Frontier Activity (D) North-East Frontier Agency
24, NEFA &1 0 €9 R 8 — 91 foh STE0M=Iet T hl Tge! ST STl &7 ?

(A) North-East Frontier Area (B) North-East Frontier Assembly

(C) North-East Frontier Activity (D) North-East Frontier Agency
24. What is the full form of NEFA — as Arunachal Pradesh was known earlier ?

(A) North-East Frontier Area (B) North-East Frontier Assembly

(C) North-East Frontier Activity (D) North-East Frontier Agency
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25, frfeiiie @Ry SReTE el w72 ?
A) o=l (B) «f¥eR e
(C) -2l (D) TRITES 9
25. 0y SEiie @i SiRres 2m 77 ?
(A)  TRresiife (B) 9T TGS TGH
(C) eI =z (D) foerarg
25. TERIM FE3AT IRAT ST SIRAT 78T 2
INIRE LI (B) T TN T
(C) m usfy (D) <
25. freferfaa & & 1 wid 1 e forameh 72§ 2
INIREEIEI (B) U HiT 1T T
(C) Towft gt (D) dgan
25. Which of the following is not native to India ?
(A) Chimpanzee (B) One Horned Rhino
(C) Pygmy Hog (D) Leopard
26. G Mo (BIFL QIO 207 GHPS SifewR1 lafee ?
CNERERIZAZET) (B) i ST
(C) fami a2 D) e FIget
26. T3 SEIOGCE G- siisf 2o 7y b Sifon FafRier ?
(A) T Brge (B) T wra
(C) fipm iz (D) Py I
26. e HEYATE e AT MR BIERTH ATGIHH ?
(A) e =mET (B) T iR
(C) e == (D) o shrget
26. g fther o 1oy wam= yftreer Sefia mi grn e g oft
INIRCHERCIER]] (B) fiem Hofit
(C) Torer == (D) firem et
26. The male lead role in which movie was played by Zubeen Garg ?
(A) Mission China (B) Mission Kashmir
(C) Mission Chennai (D) Mission Kabul
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27. NES (©IE o< &FIe Ffifee ?

(A) SE.CF. o1 (B) T3.9(F. 9=«
(C) S9.CP. e D) WR.GF. Ag©
27. ‘Malgudi Days’ 225 & fomafecst ?
(A) TGP, T (B) .94, Tl
(C) IR.GF. TFFA (D) IR.. s
27. OTeE! St ferarat A ferme ?
(A) 3R, TTEIHT (B) . 3TR. TR
(C) 3R, THT (D) 3TR.%. ufed
27. HICHES! St i ToT feheq i oft 2
(A) ARk, ALHI (B) .3AR. TEVH
(C) 3., T (D) 3AR.%. ufea
27. Who wrote the book ‘Malgudi Days’ ?
(A) R.K. Laxman (B) K.R. Narayanan
(C) R.K. Narayan (D) R.K. Pandit
28. (g (2R
(A) SAPHEF ETSR TENE (B) 3ifq 92 oiw IR

(C) B A2 @RI @1 (BT (D) A2 IR
28. (G2 :
(A) PGP @& 57 (Interstellar laser weapons)
(B) 4ite 1{7’3 W (Night vision binoculors)
(C) I Batl Aw % WW% Tq (Crawling land mine detectors)
(D) TRUREN SR (Unmanned ariel vehicles)
28, ZH AT IEH

(A) FERRAR AR o9 (B) TS AT gl

(C) WS T i TS Sram (D) AETY TETY SR AeTS
28. gHE:

(A) T AR ERRAIR (B) Tse fosH g

(C) Tergedt oie wid feeaex (D) uHd Ifed gaTs ared
28. Drones are

(A) Interstellar laser weapons (B) Night vision binoculors

(C) Crawling land mine detectors (D) Unmanned ariel vehicles
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29. e ST 4l (TR Fo3e (¥30d Sifes ?
(A) TG Bl (B) JRFT
©) ToRgAT (D) fag a1
29. 90 SRR W@ & THIE HERNS ?
(A)  ToERIGA AR (B) JIRFC AW
(©) EgErl D) fagga
29. TEME BIRETE SR AEST FeR TATTHH ?
(A) fireardas ammm (B) N3 T
(C) dmsg=w (D) foyweam
29, frfefiaa O=ht # 9, T peara Raarst & o1 ?
A) Fresdas g (B) FH T
(C) dassw (D) g s
29. In the following list, who was a football player ?
(A) Gilbertson Sangma (B) Carfew Roy
(C) Tayebunnesa (D) Mithu Baruah
30. fTfeTIe (G T JUS: (TS “Iiefe] T 27 ?
(A) @@ (B) =N
(C) ol (D) IR
30. TICE (T TR 2iyTos (@RS SvEio 91 27 ?
(A) AR (B) &I
(C) T (D) TR
30. TEEN S€ THE GREFE! HeaTe B ?
(A) et (B) 3™
(C) it (D) <l
30. FfcTRad o @ o 91 IER T €9 § ohict H T 1T & ?
A) fearett (B) fvH
(C) it (D) wirEe!
30. Which of the following festival is mainly celebrated in Kerala ?
(A) Diwali (B) Onam
(C) Pongal (D) Lohri
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31. 2022 T GRIR ANZTS SRR (T4 9 38 2w 2
(A) Jeer (B) =
(C) SR D) @R
31. QR 2022 3 SPIH I el (STl 2 fe ?
(A) IS (B) I
(C) SrETEfE D) @R
31. SHERI 2022 € FEHH ¢ Rt g SAHH 2
(A) st (B) e
(C) dqHAER (D) &3
31. a0 2022 T 3TEH T i @1 Tel1 s T o ?
(A) STt (B) ST
(C) TR (D) ®TE
31. Which district of Assam was created in January 2022 ?
(A) Bajali (B) Baksa
(C) Tamulpur (D) Hojai
32. 2021-22 I SO JCEH I 7R Ffafeet ?
(A) s eyl (B) &l el
(C) =rgel 7l D) ICIS (1R
32. 2021-22 I G PR JICHE (& T Z7 PR ?
(A) 29 o =i (B) S&r@l (Teal
(C) =rgel 3=l (D) TS (ol
32. 2021-22 AR T MM FTeie@! IR TARIGHA ?
(A) Tew= fom = (B) 3tar =
(©) g (D) THIS
32. W ¥ fhE 2021-22 w1 s1e U1 foham 2
(A) e forea smi (B) FASial A3
(C) g s (D) Titer 7]
32. Who presented the Budget for 2021-22 in Assam ?
(A) Himanta Biswa Sarma (B) Ajanta Neag
(C) Atul Bora (D) Ranoj Pegu
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33. TTfeIld® (@iee ) F=he[@d 7 *I itz ?

CVIRICIEY (B) IR
(C) fac (D) Tl
33. Ty Searire AReleT 0K (G The@ AR Wi SICd S ?
(A) TP ®) e
(©) e (D) el
33. TERM o AT TEAGYX SHTH el THE ¢ ?
(A) wE B) gffs
(C) fegit (D) T
33. TmfaRaa d @ %= it 7 s 7<) % gfevft ae wfRE g 2
(A) = (B) geAfad
(C) fem (D) TTHel
33. Which of the following river is on the south bank of River Brahmaputra ?
(A) Manas (B) Subansiri
(C) Dikhow (D) Ranganadi
34. TaferiRre yzg fooqs @b (=R WiHRSs 3 Seoim @ ?
INIRCRcRaIECIRIS! (B) G CNETians
(C) BIME (oMo (D) @A eI
34. 0y Searewm I3y (SIS &biTod Serime (5w ?
INIRCRERRGIEDIIE (B) TleIsTT (Hlig=Isia
(C) JeiZsie cHixmang (D) @A AT
34. TERMH € HHE 37 TeMH1EH 719 fegTam g ?
A form s (B) Fuefie wierEer
(C) ST HigHTer (D) TETEI HrgrETer
34. Feferfga 8 & o o ged g S sE R 2
@A) Feas frprs B) FHreing feprd
() e (D) TETE e
34. Which one amongst the following is the oldest production unit ?
(A) Digboi Refinery (B) Numaligarh Refinery
(C) Bongaigaon Refinery (D) Guwahati Refinery
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35. ToRleTe (@e14= qIera SNl SpRE SN (TS 7180 787 ?
INEEIRIGK] B) e
(C) Mea™™ (D) =R
35. ICH Sealre (i reis SRR S0 s SRRmie 7 2
(A) IS B) P
(C) Ree=N (D) =R
35. TERM S TS ATETHSH FoHT THATIATIT ?
(A) TS B) fufepn
(C) T (D) GHTE STA
35. fAferfigd o @ S 91 TS 378H & |1 HHT A1 T2l a1 8 ?
NBE IS B) faferm
(C) fusin (D) ufTem e
35. Which of the following states does not share border with Assam ?
(A) Nagaland (B) Sikkim
(C) Mizoram (D) West Bengal
36. JfEae! AR St fafIe @@ &1 i 5T 2
(A) TG B) I izeR
(C) =ite (D) HReie
36. FIGR @ @i FifEmie! AR Sy~ Fef 2
(A) Tl B) I =RER
(C) =ite (D) feie
36. WHIST FYATN ATehaTl & et 4 Rerma e 2
(A) TATEE (B) hife AT
(C) == (D) ufama
36. ST TP SuH fefafed @ @ fra e S i gar 2 2
(A) e (B) =l sATelrs
(C) ta (D) AR
36. Kaziranga National Park does not touch which of the following districts ?
(A) Golaghat (B) Karbi Anglong
(C) Nagaon (D) Morigaon

SLRC-2022/P-IV/B 23 P.T.O.



37. PP M6 MR 37 i8R GRS (@i o191 hes sTiferge srigs ?

(A) Rpep el (B) =478 LIl
(C) SI&H i (D) NS *<FrE
37. RRPTISIER 68! MR 'R SIFfHTe Fie sifaree ?
(A) R epm ATl (B) =T Sl
(C) &I A (D) IS =
37. TreEmr 1 grerfosme ame fogiga e =mie e ari Mot ¢ 2
(A) oy ST T (B) THTGS JHMH
(C) A fix (D) >fiva yeRtea
37, foranm 3 v faye 3w AT § frme e e R
(A) oy ST T (B) THTCS SHTHI
(C) 3™EdR (D) sfiva v g
37. Whose resting place is at Saraguri Chapori at Dikhowmukh, near Sibsagar ?
(A) Bishnu Prasad Rabha (B) Swargadeo Sukapha
(C) Ajan Pir (D) Srimanta Sankardev

38. Y39 FEs YFRRCS! (I B SRR 2

A) GF AT (B) @< GRRYT
(C) @F =RIM (D) BF IS

38. T3 {ACICS @A efoy] FERRCE ?
A SFATR (B) =T oNIRS
(C) BF PM (D) BT IS

38. YIS TegRIE! HR T 914 ?
(A) TEAEH (B) % o STETgL
(C) T3 (D) TR 3T

38. Terem gal H g Sl T i ot ?
(&) TS (B) % T TG
(C) & 3T (D) TR 3H

38. Who established the Gurudwara at Dhubri ?
(A) Guru Nanak (B) Guru Tegh Bahadur
(C) Guru Angad (D) Guru Arjan
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39. SR @IS SSww F1 2 S ST ar (Fiey ST 2

(A) 3T AFUH (B) TSl wHIS

(C) =S AT (D) Fmisrs
39. SPINRI HEIOLaT 22 SfStTal (& 20 ?

A) SRS AU (B) Tl b

(C) Q! AT (D) fwials
39. TR FraYAA fifafaa smss wegh 1 gsnan ?

(A) 313e3 Bifsh (B) 31 8

(C) == gifssh (D) feren =
39. i fhen o vgel Afgan SR M off 2

(A) 333 Bl (B) 3w 3ATmaAT

(C) 3rai gfes (D) frnTa
39. Who was the first female actress of Assamese Cinema ?

(A) Aidew Handique (B) Ebha Ashaw

(C) Abanti Handique (D) Vidya Rao
40. ffarfe Tes fosTse TEE (UNESCO) R afezy ¢Fq @FRG! 2

(A)  SreEl T & (B) w3IETHL

(C) gl v (D) TR G Sy
40. T SElerm@ T @b UNESCO @3 afsz[ia! 2 2

(A) ST Al At (B) WIETHO

(C)  plyt fet (D) PTG Tyl
40. TEREN F931 UNESCO T BiatRift 37 s amaf ?

(A) HTel <A Y (B) gareigst

(C) SMRET Af<x (D) HHH TN 3 grmn
40. frefafad 8 @ 1 e 9wkt foed e @ 2

(A) el 7 g (B) gareii

(C) e Hiet (D) HE TER 3gITH
40. Which amongst the following is a UNESCO Heritage site ?

(A) Majuli River Island (B) Sualkuchi

(C) Kamakhya Temple (D) Manas National Park
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41. TSGR el 529 (2R :

A) FRT= @R (B) T=fHAMAN
(C) TSI (D) forat
41, TG Jreiel =12g 251 :
(A) IJAPT GICPT (Buenos Aires) (B) GIFGEIeN (Santiago)
(C) <9rsl (Bogota) (D) ™I (Lima)
41. ITSUEHTH TS T AT ?
(A) = 3 (B) wfeamm
(C) st (D) formn
41, FRIEET T T TR
(A) FEE A (B) &femmm
(C) s (D) <fm
41. The capital city of Argentina is
(A) Buenos Aires (B) Santiago
(C) Bogota (D) Lima

42. G AR I P 'S LS

A) TR (B) TR
(C) =Bl D) @&

42. IR QR TE 7S 25
A TR (B) T AR
(C) TIrel D) TP

42, TR URETH LR "E’ S TG 7
&) T (B) FITR
(C) STeprdl (D) ik

42. TRUREIwIqEEE  Hy |
&) T (B) AT
(C) tehr (D) i

42. Air Asia has its headquarters in
(A) Mumbai (B) Kuala Lumpur
(C) dJakarta (D) Bangkok
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43. ToTfeTI® (PICHT, ST @ o ACafbe fores w27 2

A) TIe'H-11 (B) s
(C) T =g =D (D) TI%

43. NHH (IS ST FATADR “Ffs 73 2
(A) T 11 (B) forers
(C) WRCFPTE wRe D) TI%

43. TEEN Fsl HIFES HARH RIS e 791 2
A) feEw 11 (B) formmem
(C) HTSshiaTR %Y (D) 9%

43. T 8 8 1 @1 oy o forw ATl freen i 2 2
A) fo= 11 (B) ferem
(C) wrgshIEITE HATMHE (D) 3ug

43. Which of the following is not an operating system for Computers ?
(A) Windows 11 (B) Linux
(C) Microsoft Office (D) Ubuntu

44. TR MR PGS T RIS SRS AL IR X% fZ5/ee] s 71 =7 2

(A) el (B) =i st
(C) IO (D)

44. 0 TR @R TENH SRS SRFES AT A0S “ons RET ol 391 21 2
(A)  Jleoned] (B) =l (<
(C) IO (D)

44. TEEEN S931 i@ YRaH sifee fearerit fifgf e e 2
(A) =S B) =1
(C) ®md (D) T

44. F=faRea 7 8 forg adam o vrd 1 a8 S fearer et amr S g ?
(A)  SHEAS (B) e
(C) wme (D) WA

44. Which of the following is presently considered as the highest Himalayan
peak of India ?
(A) Kanchenjunga (B) Nanda Devi
(C) Kamet (D) Mana
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45. IR OIPIYTS (25! Biefde 5 @i ?
A) 4 B) 5
C) 6 D) 7
45. IAPAR AORFICS GG TG I (rings) SR ?
A 4 B) 5
C) 6 D) 7
45, Al TRIHTSTE Hied 9@ § ?
A) 4 B) 5
©) 6 D) 7
45. IATAIh sl H fehd Bl Bld @ 2
A 4 B) 5
C) 6 D) 7
45. How many rings are there on the Olympics flag ?
A) 4 B) 5
C) 6 D) 7
46. Frferie PIMRES @06 9P (I 2 2
(A) SR (B) 7 oISl
€) [ (D) T
46. f0x el Al I qeii =7 ?
@A) BIEE Ty (B) 7= o
(C) @l (D) oIl
46. TrERY SE e g A 2
A) feat wmsf (B) TSGR g
(C) @ (he) (D) =
46. fr=feriaa # @ fopm e & w1 ST @ 2
A) wiahisdl (B) gu=E
(C) & D) |
46. Which of the following is measured in Carats ?
(A) Steel rod (B) Milk fat
(C) Saffron (D) Gold
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47. YEFTE @ R R s fefe I jfidipe Siie Fuiere ame
R ?
(A) AT =S (B) wifFe=e
(C) farets (D) ferer e a1f
47. GRIIR (fossil) T3 fefie 07 ARt SR 2oz @i SR =14t 721 3 2
(A) GRS (Palaeontology) (B) &% (Archaeology)
(C) $% (Geology) (D) A=W (Geomorphology)
47. SeTEE! T W SR A faf SIS se e e e g 2
(A)  UAtIT=TCAS S EEIEICINE
(C) ShaTrerst (D) STHRIATSH
47. TR I i H @1 SAATLH] o TR T g T SaH o 3hige 8 qafad g ?
(A)  farew fosm (B) qud faH
(C) o wre (D) -3fa famm
47. Which branch of study deals with the history of life on Earth as based on
fossils ?
(A) Palaeontology (B) Archaeology
(C) Geology (D) Geomorphology
48. IRV Biv GIRIF I @R T8 921 F9 = 2
(A)  EEIRGE (B) WIRGE
(©) wIFBREA D) FGIRGR
48. IRNGER BI%l A=A &) (I T IS 2 2
(A) WEAIRGE (B) WICARGR
(C©) wIBHER D) FGRGHE
48. F ITESIll HTEETATH TRATRIE! FAT ?
(A) "R (B) S
(C) UfeeHiet (D) g
48. TSI GSTE i AT o 7T fohd Iuehtur <t 3T fohan ST & 2
(A) AR (B) S
(C) FdHIR (D) ®EgHIR
48. Which instrument is used to measure atmospheric pressure ?
(A) Nanometer (B) Barometer
(C) Altimeter (D) Hydrometer
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49. T-CAl (o1 (&R o RSIeTs) 779712 (IS @G| i S1gd O JfZ A ?
A) wioE (B) =
(C) =&t (D) >Mro%e
49. TI-(I (YEIICS ST 1 AT F© &l 90T M 2T I 20G WIS 07 2
A b B) =
(C) & (D) A®
49. T @l ToHTd BIEHT gHSIH HTeH TG BIYRE g6l 3T MEE g fwe ?
(A) <t B
© 1 (D) =
49. @-W & T U, ST H areft T % fohd™ T BeH § Ja9 id g 3] % 96 93d 8 ?
A) 8 (B) <®
(C) (D) g«
49. In a game of Kho Kho, how many members of chasing team enters the field
and sit on their knees ?
(A) Eight (B) Ten
(C) Nine (D) Seven
50. T TR Qe il eRiaRIes fqaal 7T 58l S a1 9719 PIee W @Il
fet ool 1 27 ?
(A) SERA (B) SeTpleTl
(C) =l D) *row
50. ERISRICEH (29, Gs1RRm) fqE@al T @ TRl warse il a3 @3 T I70F
fifere zaR ?
A) SRR (B) Tl
(C) Fe! (D) *o%
50. TITRIS (3Tl srereare sam) 1 Gefa gmasme T SR S <o e S
s e (@ ) f gem A 2
(A) wariRed (B) 31Tl
(C) TwEfd (D) g
50. TATRIS o P10l &0 (qd H SSTETETe 1 YoTT) § fohd TRIfoTeh SfRTA ¢t bl T 3T a1 |
T gom T ST 8 2
(A)  wrfieft (B) 3TcAHEl
(C) weardt (D) g
50. Which mythical underground river is considered to have joined Ganga and

Yamuna at Triveni Sangam of Prayagraj (formerly Prayag of Allahabad) ?
(A) Bhagirathi (B) Alakananda
(C) Saraswati (D) Satadru
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51. 2, 6,18, 54, ...... S[FCG B MR C2r
(A) 4370 (B) 4374
(C) 7443 (D) 7434
51. 2,6, 18,54, ...... FGCS S5 ARG
(A) 4370 (B) 4374
(C) 7443 (D) 7434
51. 2,6,18, 54, ...... BTN A 8 1 fogreat e
(A) 4370 (B) 4374
(C) 7443 (D) 7434
51. 3TTHE 2, 6, 18, 54, ...... H ABATIC R :
(A) 4370 (B) 4374
(C) 7443 (D) 7434
51. The 8th term of the sequence 2, 6, 18, 54, ...... 18
(A) 4370 (B) 4374
(C) 7443 (D) 7434
52. TR 75! TR, I TOR TRANSE FW 20% SF 50% TIET | TR {HI7 SIS
ey
A 2:5 B) 3:5
C) 4:5 D) 7:5
52. (T 72f5 71271 SO AT (AITF AT 20% €% 50% ¥ | 727} 1257 Sirs
A 2:5 B) 3:5
(C) 4:5 D) 7:5
52. W IERTHET AT BN Al HTHIER 20% IR 50% ST | & SHISHT FHAN &2T8 311

9 ?

A 2:5 (B) 3:5
(C) 4:5 D) 7:5
SPACE FOR ROUGH WORK
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52. T HEATE U ekl T8 & HES: 20% 3R 50% 311k &, G T3t s ST & -
A 2:5 B) 3:5
C) 4:5 D) 7:5

52. Two numbers are respectively 20% and 50% more than a third number. The
ratio of the two numbers is

A) 2:5 B) 3:5
C) 4:5 D) 7:5

53. T 4,000 JELT ISP TS 12% I [0S 18 T2 7S (2R :

A) X216 (B) %720
(C) %360 (D) %960
53. 3 4,000 GBI ToR 12% AR 2ICH 18 0T S 71 7
(A) %216 (B) %1720
(C) %360 (D) %960
53. SRElgl SERIN 12 18R T 4,000.00 1 €M 18 3719 MRt g o AT ?
(A) T 216 (B) %720
(C) %360 (D) %960
53. T 4,000 W 18 WEH T 12% Tid ¥ shl g | 3AfSTd LR 11 8
(A) %216 (B) %1720
(C) %360 (D) %960
53. The simple interest earned by ¥ 4,000 in 18 months at 12% per annum is
A) X216 (B) %720
(C) %360 (D) %960

54. Tl G MRAYF 893 (I 299 R SN 193 N1 T | G0 R 47 § 299
PR IR SIS (2R

A 3 (B) 25
©) 5 (D) 33
SPACE FOR ROUGH WORK
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54.

54.

54.

54.

@ G0 TRGTE 893 @RI ©lol FAE AKX 193 AT | 12 WAMTE 47 =1 Sl
EEIGICHIEERIC O

A 3 B) 25

) 5 (D) 33

HE IARHRE 893 S THeeT TG oTeTre! 193 | J TG JHARNHRE! 47 S THISAT STTgT
YT S ST 2

A 3 B) 25

) 5 (D) 33

STe Teh T 1 893 ¥ fawifora foran Sar @ 1 919 193 W g1 ® | 3T @ w47 °
TawTfSTa S WX 219 B

A 3 B) 25

) 5 (D) 33

When a number is divided by 893 the remainder is 193. If the same number
1s divided by 47, the remainder will be :

A 3 B) 25

) 5 (D) 33

55.

55.

I @ AFIFR &20[ @ GIRCE F_F 12:30 IHF 10 WG S cerwioze
2 | IR SR @758 20 MG Sa termiozs e Fifee | «v.f8.
SR TR IS Tret 30 b 1<t =nifafee | Arwiesa Frafs !
wifee -

(A)  12:50 I (B) 12:40 I

(C) 12:00 IS (D) 12:10 IS

ORI AFPITR WS &) M 96 12:30 qoPR 10 W6+ 2t e |
IR .58, 7 @ 20 MG =1wsl etz | .18, ARFIFR @eF e 1 TR
(I 30 6 CTAITS (TRt | STFFIRFR (TSR 7T et

(A)  12:50 9o (B) 12:40 96t
(C) 12:00 9= (D) 12:10 K=t
SPACE FOR ROUGH WORK
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55.

55.

55.

3T Gl AR o7 vafe 8 37@ 12:30 ST 10 fire & g, wa fe. 71w 20 e
e mfafift 3 gy | w.fe. an Serey fr grEm & @A wmteE 30 fime e
Qe | 3etey T arEm forarem = sman 91 99 ?

(A) 12:50 Tt (B) 12:40 Tt

(C) 12:00 feer (D) 12:10 et

LT, FTETTehT Hd o fIT 12:30 9 A 10 e vget 8fct § Ja9r a1 & | 9@ ML.D. &
20 e Tget 3TEX 37T AT | ATTEhR o THA o IFER M.D. 30 fire <t & vg= | anefiehr
o1 Fretf wm o

(A)  12:50 &t (B) 12:40 st

(C) 12:00 &t (D) 12:10 s

The Chairman enters the Assembly Hall 10 min before 12:30 hours to
conduct the interview. The Chairman was 20 min earlier than the MD. The

MD was 30 min late as per time fixed for the interview. The time fixed for the
interview was :

(A) 12:50 hours (B) 12:40 hours
(C) 12:00 hours (D) 12:10 hours

56.

56.

20 . AleT quiE Geel Q3o Tor (TaRTe SiITHiE (I SR | QYeNsite A6 PIe 30°
Tl B SR, | LTI @IS i 1 KBTSl 2z :

(A) 10f¥. B) 17.32f.

(C) 8.16 1. D) 13f.

20 f6R Teafa @M 92 (ladder) To1F (vertical) SIER 2l @b (RS J& SR |
TG gl e 1 GRICR Wi 30° | Wb creene = w91 b Sove :

(A) 10 fs (B) 17.32 3

(C) 8.1613 (D) 13T

SPACE FOR ROUGH WORK
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56. TE MUl TR 3@ 20 . FRU™H Jemn F9EE § | = g 30° @ @ |
AT A 3T BN formarta Siamssn o ?
A) 10 (B) 17.32 .
(C) 8.16M. (D) 13
56. Teh 20 HicX 7ol Hiel Teh Heatek ar W Feh! 8% & | I8 STHIA 6 T 30° 1 IV AT & |
ST % IR I o 9T foig hl HaTs @
A) 10, (B) 17.32 .
(C) 8.16H. (D) 134
56. A 20 m long ladder is leaning on a vertical wall. It makes an angle of 30°
with the ground. The height of the point the ladder touches wall i1s
(A) 10m B) 17.32m
(C) 8.16m D) 13 m
57. GBI 531 1000 “A1 LTS SO a1 779 (20= 22 6.1, | 5Pl i1 2
A) 4.5 (B) 2.1
() 2.8f. D) 3.5,
57. @3 B 1000 SRS 22 fRefire g o 61 | SRS IpTie
(A) 4.5 (B) 2.1%%
(C) 2.8M3 (D) 3.5 M3
57. WHE @R @9 1000 Fifeam sma 22 . fr. Smumg geern | 9 gy w'EE g a1
EIEIP]
A) 4.5 B) 2.1fu.
(C) 2.8 (D) 3.5
57. T Tiea1 1000 =oht § 22 foh Y. 1 gft 7 ot weha 2 | afed 1 e (Radius) 2
(A) 4.54. (B) 2.1
(C) 2.8 (D) 3.5
SPACE FOR ROUGH WORK
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57.

A wheel can cover a distance of 22 km in 1000 rounds. The radius of the
wheel 1s

A 45m (B) 2.1m
(C) 2.8m (D) 3.5m

58.

58.

58.

58.

58.

10 SIS R 2 @3 RMierts O&@ frecs STe arze (9 SiF 0] o109l 25 I=9
PTG FCS ReRre @omie 09 | Fergace Fres 766 7% 197 3 BT A |
TP 212 91 R Srerd T (AR

(A) 559%F (B) 65729

(C) 58I=F (D) 60 3=

GG FCE 10 T PP IR | S TP 2129 PEACRA 3R @I 25 IO R
GG Tge] RS @I PR | ToTahel PIpSE 9T I3 3 I0T BT <RI | ST
el PR T =5

(A) 5539 (B) 65379

(C) 58I (D) 60 IH

o1 TS BRI T T8 st 3Tre, J ST SR SR S A 25 S SEi TeE
IR s | feam wfed, B wr S| Teaqm 31 3 S @HEeTeT | 3T
A BIARE Sqie T 9g ?

(A) 55 9ER (B) 65 9mER

(C) 589 @R (D) 60 STER

10 faregen 9Tt Thet §, Teh foreqeh 1 Ganfraf W qia 25 a9 <l 311Y 1 weh 1 freres e
B TR | aRTTREEd, et i 3fiEd 3T 3 81 TS | HaTga et il g R

(A) 55 (B) 65

(C) 58=d (D) 60 =

In a school with 10 teachers, one retires and immediately a new teacher of
age 25 years joins. As a result, the average age of the teacher reduces by 3.
The age of the retired teacher is

(A) 55 years (B) 65 years
(C) 58 years (D) 60 years
SPACE FOR ROUGH WORK
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59.

59.

59.

59.

59.

720 1P REpd 26 @2 RmpleRrs o131 Sl @[IEAR AR ST 7 ;5 | SEArSh!
1: 1230 SeR@ P s1F IR Tes 23 AR 2

(A) 60 (B) 120

(C) 180 D) 240

720 & R P! G0 F0eT (20T GAR TR SIS 261 7 2 5 | (0 S (@F S 1
1 20 20 SRS o6 (W& S 206 23 ?

(A) 60 B) 120

(C) 180 D) 240

1 720 BIFENHT T8 HUHETASE SamEl SR e edH SN $9918 311 JE™
7:5 | SIATEIAT 1 : 1 Aveet, Ao Tgwstraramn g foraaem=ma 7

(A) 60 B) 120

(C) 180 D) 240

720 BT h Teh Thel H TSI TR TS| hl HEATHI ITAG 7: 58 | AT 1 : 1 T h
foru 3R feparft ersferart 1 werw fea ST =nfew 2

(A) 60 B) 120

(C) 180 D) 240

The ratio of the number of boys and girls in a school of 720 students is 7 : 5.
How many more girls should be admitted to make the ratio 1 : 1 ?

(A) 60 B) 120

(C) 180 (D) 240

60.

60.

120 & RG] G5l RARPTS 45 e A T B | 70 RIGHEPTS TLIE 30 &l A
QI FC, (ST TGS I Q@GR! =i ey fer #1ifa 2

(A) 40 (B) 38fm™

(C) 36 (D) 32f™

@b FGRICT 120 & BIQ ST 9% 45 el @3 RIF SRE12 391 2R | IH S8 30 &
2/ RG] @M 0 O3 RGI0T TGS Il QI Fofve Ho1id 2

(A) 40 = (B) 38T
(C) 36Tma (D) 32 fm
SPACE FOR ROUGH WORK
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60.

60.

TH g 3E |1 120 HUFET € 7RI STER 37 94 45 7 9@™ g | Jfe 9 gaE AeE
T 30 BUFHTSHT ATHAT, AT AT AT o FEASAT T HIfeAT g 2

(A) §H 40 (B) o 38

(C) ¥ 36 (D) M 32

Th SEEE H 120 BT & 3R HISH i 3T(d 45 i & fefw 2 | 3R 30 3R B sEe™ §
TSt B 7T, HS[eT HieH & BrEmem fha fe = 2

(A) 40T (B) 38f&=
©) 36f (D) 32 fem

60. A hostel has 120 students and food supplies are for 45 days. If 30 more
students joined the hostel, then how many days the hostel will run with the
existing food ?
(A) 40 days (B) 38 days
(C) 36 days (D) 32 days

61. eme “IfBba2 Ol (P @I 93 7 IRE AR [reifere wore iz | babre

Tax X3 73 B (I T :

Fig. : Expenditure (in Lakhs)

(A) 90° (B) 45°
(C) 72° (D) 81°
SPACE FOR ROUGH WORK
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61. fcx Sare 3¢ fbaft «3fh afepitr AR TRR ©2 e e FE | FER JelN e
S[TEL P! (PIC I

o 31 ol
foq : 25 (777%)
A) 90° (B) 45°
(C) 72° (D) 81°

61. TS AN S HHE HATH SR TERE! fefRMA™ Se | @ T (Tax) Tl I3
I @A A3 Y 7

HE : T (A A1)

(A) 90° (B) 45°
C) 720 (D) 81°
SPACE FOR ROUGH WORK
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61. s =md ferelt feu mu o & foru femeht st & = o1 foreor fe@man 8 | 2 (Tax) @S g
AN BT R

Fig. : =99 (V@ H)
A) 90° (B) 45°
(€ T72° (D) 81°

61. The pie chart shows the expenditure breakup of a company for a given year.
The angle subtended by the Tax segment is

Fig. : Expenditure (in Lakhs)

A 90° (B) 45°
(C) 72° (D) 81°
SPACE FOR ROUGH WORK
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62. To@q %24 S9IRGIB (771 I3 ToRe foaes! fomfoa < -

A) (B)

©) D)

62. TG g oo 03 og TG = T -

A) (B)

©) (D)

62. HEATR HIE A0 erera & grermit @ ar” ?

(A) (B)

(©) (D)

SPACE FOR ROUGH WORK
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62. 3TTHId @1 ST T o ToTU IR SR 1 = e :

(A) (B)

©) D)

62. Select the appropriate figure to continue the figure series.

A) (B)

©) D)

63. 2MEIHS BT (?) Bre 5313y 3z wfem 2

14
22
34
41
53 ?
A) 14 B) 55
© 15 D) 45
SPACE FOR ROUGH WORK
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63. NS B (?) SR G 7251 73 2

14
29
34
41
53 ?
A 14 (B) 55
(€) 15 D) 45
63. Hiq e 519 TS A=A g ?
14
29
34
41
53 ?
A 14 (B) 55
© 15 (D) 45
63. IvIaTE g (?) o T W hIA H HEA A =rey ?
14
29
34
41
53 ?
(A) 14 (B) 55
(C) 15 (D) 45
SPACE FOR ROUGH WORK
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63. What number should replace the question mark (?) ?

14
22
34
41
53 ?
Q) 14 (B) 55
(C) 15 (D) 45

64. BROTHER, HUSBAND, MEN
92 XA} TR T 554 e ARfboeiE afsfig a1 foan! bre Ft |

A) (B)

©) (D)

64. TG ST EIMNSYETR T AP TFHE @ Ba’ FNAEE Siereid afsfirg 3@ ©f
b T :
2, R, T

A) (B)

©) D)

SPACE FOR ROUGH WORK
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64.

64.

64.

TERTE BT ATETGBRI ToRE AT HHGRE 55 %3 e BIHRIT e §1id ?

(A) (B)

(©) (D)

39 3NE ! TgaH w1 few T ot o ofi9 gay 1 ged st afdffrc s 2
WTg, dfd, ey

(A) (B)

©) D)

Identify the diagram that best represents the relationship among the given

classes :

BROTHER, HUSBAND, MEN

(A) (B)
©) D)
SPACE FOR ROUGH WORK
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65. I 1 5! O 50 3519 gl q01 2 : 3 Fepsites o 2 35 A et | 270 50 #25[
@I AL (R0 :
(A) 20 B) 25
(C) 30 (D) 35

65. *JN 1 TP G2 50 AT Y@l 2 : 3 TS 35 BIpl &1 FCACR | 50 2RO @I A 26T
(A) 20 B) 25
(C) 30 D) 35

65. T38RI 50 HETHST 2 : 3 % ATS ¥ 371 T 35 T SHYAT | 50 Hamggr Ffommn 59 ?
(A) 20 B) 25
(C) 30 D) 35

65. AT 1 %9 h f&ani 3T 50 98 o T&a=hi < 2 : 3 o 31UTd § T 35 Hufed fohaT | 50 T8
fopi i oE ?
@) 20 B) 25
(C) 30 D) 35

65. Shyam stored T 35 in the form of 1 rupee coin and 50 paise coins in the ratio
2 : 3. The number of 50 paise coins are :
(A) 20 (B) 25
(©) 30 D) 35

66. IS &' @I WS Al SFRF 41 7-] TS FF 2 GIFER [l 12-99
E[TS SR | AW (S STENE GRS I ZlW el FCI, (508 12 ST #[[f 22-%
FITS A | XSG JoTS RS 1 T SR ?
(A) 19 (B) 31
(C) 33 (D) 34

66. IR @A & AL IMTF (QATF 7 ©F 2 GR &9 THWF QAT 12 ©F 2

IR | I SR S 2B 26 T O @ A2 ¥ 5 (AT 22 ©F B i | AHHhee
b o0& (=T SR ?

A 19 (B) 31
©) 33 (D) 34
SPACE FOR ROUGH WORK
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66. BIEET B THE GRS, ST 31 ISR 7 7 3719 gaiF 3T IfsH 31 e
12 T 319 <Ha | i s8R Tat grat remremsar, S o1 smitae 22 ¥ e
AT | & TINSTE T BIATETRR G ?

A) 19 (B) 31
(C) 33 (D) 34

66. TSI <hl U Ufed H, 31 918 T Tiqd 3 T g A 129 T W | Afg I 3191 T0H
398 T §¢ Id 7, a1 1 91 8 229 TIH W AT § | uferd 1 foha Aieh 8 ?

A) 19 (B) 31
(C) 33 (D) 34

66. In a row of boys, Srinath is 7t» from left and Prabin 1s 12t from right. If they
interchange their positions, Srinath becomes 22nd from the left. How many
boys are there in the row ?

A 19 (B) 31
(C) 33 (D) 34

67. AWT2  96=6927,58 87=T885%,TS(B79 86=7
(A) 7689 (B) 8976
(C) 6897 (D) 6978

67. IWT2  96=6927,58 87=7885SET79 86=72
(A) 7689 (B) 8976
(C) 6897 (D) 6978

67. JfG72 96=6927,58 87="7885 AT T9 86="7?

(A) 7689 (B) 8976
(C) 6897 (D) 6978

67. I 72 96=6927,58 87=7885AT9 86="2
(A) 7689 (B) 8976
(C) 6897 (D) 6978

67. If72 96=6927,58 87="7885,then79 86=7?

(A) 7689 (B) 8976
(C) 6897 (D) 6978
SPACE FOR ROUGH WORK
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68. M ‘= @, + @ Ra@r, — @ SR E X 2IV aﬁmm, 016
18 +12 x4 — 5 (R :
(A 25 (B) 35
(C) 40 (D) 33
68. M ‘+ W TN =, + T FAA’ 27, ~ W ‘@I 7 R % A Sl 2 O
18+12x4 -5 I :
(A 25 (B) 35
(C) 40 (D) 33
68. Sfg ‘< 3T TR, “+ 3 THETR, ‘= 3 THAEIE T %’ AT TR BRA
18 +12 x4 —5fAmTHT ?
(A 25 (B) 35
(C) 40 (D) 33
68. dfg <+ w1 Fd 7 TR, + H1 37 gern, < H 37 O HX % w1 AT 90T’ 7, @
18+12x4—5HIAAR
(A 25 (B) 35
(C) 40 (D) 33
68. If ‘<’ means ‘addition’, ‘+’ means ‘subtraction’, " means ‘multiplication’ and
‘x’ means ‘division’, then the value of 18 + 12 x 4 — 5 1s
(A 25 (B) 35
(C) 40 (D) 33
69. 7,11,19,31,_ 67 TR & 2T 5RIIIH! (2R :
(A) 43 (B) 47
(C) 51 (D) 45
69. T Seefre b =T : 7, 11, 19,31, 67
(A) 43 (B) 47
(C) 51 (D) 45
SPACE FOR ROUGH WORK
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69. 7,11,19,31, 67 %I 3@ THEE fagaf am Tifw |
(A) 43 (B) 47
(C) 51 (D) 45
69. 3HA 7,11, 19, 31, , 67U W UG &
(A) 43 (B) 47
(©) 51 (D) 45
69. The missing term in the sequence 7, 11,19,31, _ 67 1s
(A) 43 (B) 47
(©) 51 (D) 45
70. A3 GIAESA 22 Q, AZF BT GIQ 7@ | Hw2[CS B I 714l (202 P I &K & P
G 7@ (22 R | R A& Q I TS (¢ 470 77IFS ?
A) *PF (B) ==t
©) ™ D) frg
70. QT A 99 GG @, @ B €3 491G %@ | B 97 T 2e] P &3 091, IF 4G 7@ R |
R SO Q 93 0% (s ?
(A) T (B) T
© @ (D) forel
70. Q 31 A 1 9@ & femma s Seem B & a@er fharsen | B T fafy sn P f feamn
gt e’ feETe R | WTER R 81 Q ST Sl getr ?
A fogE (B) fow
(C) TwaTem (D) fewr
70. Q, A <) 3heiid] 581 8, ST B 1 Sshailal sieT @ | B sl uedt P <h1 91 8, fSrdept uopam se1 8
R | R, Q 1 &&IT &7 8 ?
A) gt (B) == (37heT)
©) & (D) o
70. Q is the only sister of A, who is the only son of B. B’s wife is the daughter of
P, who has only one son R. How is R related to Q ?
(A) Father-in-law (B) Uncle
(C) Son (D) Father
SPACE FOR ROUGH WORK
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Q. 71-80 : Read the passage carefully and answer the questions given below :

At last the bomb was made. The site chosen for the test explosion was the
desert region north of Almogordo, two hundred miles from Los Alamos. The
bomb was taken by road and placed on a gaunt tower, one hundred feet high
and weighing thirty-two tons, erected on the top of a hill. The code name for

1t was Zero Hill. Zero hour was 5:30 a.m. on Monday, July 16, 1945.

Oppenheimer himself was at the control centre about nine miles from
Zero Hill. There were a thousand spectators including scientists, government
officials and a strong security force. All not on duty were told to lie down flat,

face and eyes directed towards the ground and with the head away from zero.

At forty-five seconds to zero hour Dr. Joseph L. Mckibban of California
University set in motion a weird master robot which set other robots in
motion. More than five hundred miles of wiring were used to start the bomb.
Electronic impulses were set in motion and relayed messages; electrons
moved into position. Observers stood with coloured film over their eyes and

heads averted.

Overhead two B-29 super fortresses hovered, equipped with recording
instruments to test reactions in the atmosphere. Ten seconds before zero

hour a green flare warned the spectators to keep down. Then came the

blinding flash.

The whole area was suddenly brighter than the brightest day light, and
the bomb was a ball of fire. Even at nine miles, the heat was scorching. Then
came the tremendous roar and the heavy pressure wave, which knocked
down two men outside the control centre. And then came the cloud — the
mushroom cloud, all the colours of the rainbow, ironically beautiful surging
upto over 40,000 feet, over 10,000 feet higher than Everest. The great steel
tower had gone. Lead lined Sherman tanks took scientists towards the huge
sloping crater where it had stood, to see the effects of radiation on the surface

of the earth.
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71. The bomb exploded
(A) emitting heat, sound and heavy pressure wave
(B) emitting cloud and cloudburst
(C) without creating much physical disturbances

(D) creating a lot of physical and mental disturbances

72. Electronic impulses
(A) were not effective (B) relayed messages

(C) warned the spectators (D) greeted the spectators

73. The spectators included
(A) scientists, government officials and a strong security force.
(B) scientists, artists and a strong security force.
(C) scientists, a strong security force and footballers.

(D) scientists, technicians and a strong security force.

74. Who was at the control tower ?
(A) Oppenheimer (B) McKibbon
(C) both Oppenheimer and McKibbon (D) Government officials

75. It i1s implied in the passage that the spectators were told to
(A) lie down flat, face and eyes directed towards the ground and with the

head away from zero.
(B) cover their eyes with coloured films and keep their head averted.

(C) lie down flat, face and eyes directed towards the ground and with the

head towards zero.

(D) cover their heads with coloured films and eyes closed.
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76. B-29 superfortresses and Sherman tanks are used to
(A) check the effect of the bomb on the ground and air respectively.
(B) check effect of radiation on the ground and air respectively.
(C) check effect of radiation in the air and ground respectively.

(D) check the effect of the bomb on the great steel tower.

77. The beauty of the mushroom cloud is ironical because
(A) It knocked down two men outside the control centre.
(B) Of the devastating nature of the bomb.
(C) The bomb destroyed the steel tower.

(D) Clouds are not devastating.

78. A synonym and antonym for the word Scorching would be
(A) Searing, Soothing (B) Searing, Burning
(C) Soothing, Cooling (D) Soothing, Heating

79. Zero Hill was located in
(A) Desert region of Almogordo
(B) Desert region of Los Alamos
(C) Desert region north of Almogordo

(D) Desert region south of Almogordo

80. Hover means
(A) To remain in the air at one place (B) To move to and fro

(C) To circle around (D) To move up and down
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81. I T ABH! T ARAFF @rFet 190 2, (OB GBS 7 FRAGI 2 -
(A) 40 B) 19
(C) 38 (D) 36
81. ¥ I “I155 FhiF TR @IIFS 190 2, SR SR W& Froew 7R 24 -
A 40 B) 19
(G 38 (D) 36
81. WA TR (AR R) SENHIH SETEEA Ife 190, S6RMH AGH a3Hgs gaied
SENHRT AT 7
(A) 40 B) 19
(C) 38 (D) 36
81. 9fe U= shATTd G361 917 190 7, a1 344 § Had B §&a1 2
A 40 (B) 19
(C) 38 (D) 36
81. If the sum of five consecutive numbers i1s 190, then the lowest number
amongst them is
(A) 40 B) 19
(G 38 (D) 36
82. «b1 7[<faaf AR #ICeT 2450 T <1791 FI NN 7o BT =0 :
A) 2 B) 3
©€) 4 D) 5
82. <IroH M4 AR Al 2450 (F @9 FACE <)< 0o T 26 AR @I =4 -
A) 2 B) 3
©€) 4 D) 5
SPACE FOR ROUGH WORK
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82. I IFRTEST 2450 W TSI ST TG & ATGA ?
A) 2 B) 3
€ 4 D) 5
82. T ey B! T R 2450 1 Teh 0T a7t S <k Tor@l o e S =nfed, 9@ @
A) 2 B) 3
€ 4 D) 5
82. The least number by which 2450 must be multiplied to make it a perfect
square, 18
A) 2 B 3
©€) 4 D) 5
83. ;M R I&T 20% ~RMICT I 27, (S (G K 42 GG IR 211 G 1
1N BT < 3711 ?
@) 132% B) 145%
©) 152% D) 162 %
83. I of o7 20% IS 20 =7 ~Afsifess B <= 5 *roreT F1CS 207 TS <=0
ERIESICCRI
@) 182% B) 142%
©) 152% D) 162 %
83. Sfe farif ST 20% ST STETS! T8 FE@X 31 o Soid @ TW AR 98 Siaial SErat

WHREHENTA ?

2 2

@A) 132% B) 142 %
©) 155% D) 162 %
SPACE FOR ROUGH WORK
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83. afe =ft it FHma § 20% ht ghg Bt 2, 1 Teh UG i = o Iui § fere wferera i
it e =lRT arfer sTe THH @ ?

@) 182% B) 142%
©) 152% D) 162 %

83. If the price of sugar increases by 20%, by what percentage should a
household reduce its consumption of sugar so that the budget remains the
same ?

@) 132% B) 142%
©) 152% D) 162 %
84. p, q, r GG RSB T TS p BE q IAANG. q, NE qHAF r IFAANGL. r T | p, q

84.

84.

84.

E ¢ J .8, (2= :

@A) q B r

(©) aqr (D) par

p, q, T 9 TS RN AMS p 8 q GIAAG. q, GR qEr YIAANG. r |p, q S 9
1.8, 3(J :

A) q B) r

(©) aqr (D) par

p, q,raﬂnﬁw@m&mﬁmémpmqﬁg.mm.qu,qmrﬁg.:m.m.
TR ¢ | p, q IR r 4 g.370.91. AHaT AT ?

@A) q B r

©) ar (D) par

p, q, r < TEATE 36 TR g T p 3N ¢ & oy gamees (LCM) q 8 3R q 91 ¢ &1
AT FAIEA 1 8 | p, q 3TN r 1 ALTH GHIS BT

A g B) r
©) aqr (D) par
SPACE FOR ROUGH WORK
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84.

p, q, r are three numbers such that the LCM of p and q 1s q and the LCM of
q and ris r. The LCM of p, q and r will be

A q B) r
(©) aqr (D) par

85.

85.

20 i1, / BTFe a9 aifet@ars sfet &t 100 6 T @e @@eiSt 1 6.0, rf @ee
ER 7119 28TS @S 2ITIeH RKpaie] T

(A) 45 S (B) 50 s

(C) 55 (D) 60 TS

100 X6 TICRfa @fo @@19lTSt &ifs eTemce 20 bR Sifes sifstacet 1 [Fsfie teafq o1
o 1 | FEANEI6T (T SAods FACS AT 19T :

(A) 45Ty (B) 50 PP
(C) 557y (D) 6001t
85. 100 T wrsemesfy v 37 31 1 fo6.fiy. weeef grerat 20 fa./A. mew@ MRS ar | geTE
AT S ¢ 3T o8 §6 A1 2
(A) 459 (B) 50%
(C) 554 (D) 60H
85. Th 100 Hiet &elt ¢ 20 Hi./4ehe i ThaHH T(d & =eid g5 1 .. FaTE % 4ot 1 IR
HLA B | I T IR B o I 37 g fern men wmr 2
(A) 45 Hhs (B) 50 ¥ehs
(C) 55Whs (D) 60 &he
85. A 100 metre long train moving in a uniform speed of 20 m/sec crosses a
bridge of length 1 km. The time taken by the train to cross the bridge is
(A) 45 seconds (B) 50 seconds
(C) 55 seconds (D) 60 seconds
SPACE FOR ROUGH WORK
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86. 0.037 T 2l I (22 :
37 37
(A) 990 B) 999
37 37
© 150 (D) 1000
86. 0.037 (3 SN AAST® T :
37 37
A) 990 B 999
37 37
© Jo00 D) 7000
86. 0.037 f4 SrE@EE<l T3 JE™
37 37
(A) 990 B) 999
37 37
© To0 D) 7000
86. Uk fi=1 s &G H 0.037 1 T &
37 37
A) 990 B 999
37 37
© 150 (D) 1000
86. The conversion of 0.037 in the fractional form is
37 37
A) 990 B 999
37 37
© 750 (D) 1000
SPACE FOR ROUGH WORK
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87. —763 3 T3 279 IR & S5 2R
@) -1 B) 1
C) 2 (D) -2
87. —76 (P 3 97 AR O] FACE ST :
A) -1 (B) 1
(C) 2 D) -2
87. —76 W 3 T THIAT AT JTERT I
@) -1 B) 1
©) 2 D) -2
87. —76 %! 3 T fawToM 1 W I AR
@) -1 B) 1
©) 2 (D) -2
87. The remainder when —76 is divided by 3, is
@ -1 B) 1
©) 2 D) -2
88. «bI TOEE (PP 1 : 3 : 4 : 7 SNSS SICR | L0 S F g (Pler AT 2o
(A) 120° (B) 140°
(C) 144° (D) 145°
88. b TQEH (FIIBTTH A 1: 3: 4 : 7 | JZ& IR FUoH &1 7267 71127 -
(A) 120° (B) 140°
(C) 144° (D) 145°
88. WY JTETIAsl TATRRI FHUTE ST 1: 3 : 4 : 7 | UHAUR AR GrEA @ATH BRI
3T ST
(A) 120° (B) 140°
(C) 144° (D) 145°
SPACE FOR ROUGH WORK
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88. THAGHIF B HIIU 1:3:4: 72 | T8 I 3T TH B HIVT & s T ST 2

A) 120° (B) 140°

(C) 144° (D) 145°
88. The angles of a quadrilateral are in the ratio of 1 : 3 : 4 : 7. The difference

between the largest and the smallest angle is

(A) 120° (B) 140°

(C) 144° (D) 145°
89. /20 x 45 +4/0.04 ++/0.64 T (202 :

(A) 26 (B) 31

(G 36 D) 41
89. /20 x 45 +4/0.04 ++/0.64 €I T

A) 26 (B) 31

(©) 36 D) 41
89. /20 x 45 +1/0.04 ++/0.64 f wH 311 STA™

A) 26 B) 31

(G 36 D) 41
89. /20 x 45 +4/0.04 +~/0.64 FTHFE :

(A) 26 (B) 31

(G 36 D) 41
89. The value of\/20 x 45 + \/0.04 + \/0.64 18

A) 26 B) 31

(©) 36 D) 41

SPACE FOR ROUGH WORK
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x 2 3x + by 6x+4y
90. =5 (TS 35yt ey T
1 2
A) 3 B 3
1 2
© -3 D) —3
x 2 3x + 5y 6x+ 4y
90. zrfﬁy_Sia,WSx_5y+ 6r_y T
1 2
A 3 B 3
1 2
© —3 D) —3
x 2 3x+5y 6x+4y
90. e =g g T e o =7
1 2
A 3 B) 3
1 2
© -3 D) —3
x 2 .3x+5y 6x+4y .
90. wy—g,aﬁ3x_5y+ Gx_yarrat%.
1 2
A) 3 B 3
1 2
© —3 D) —3
x 2 3x+5y 6x+4y .
90. Ify—3, then 3x—5y+ 6x—y 1s equal to
1 2
A 3 B) 3
1 2
© —3 D) —3
SPACE FOR ROUGH WORK
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Q. 91 - Q.92 : Choose the correct pair of words which are SYNONYMS of each

other.

91. (A) Regent — Substitute

(C) Ancestry — Posterity

(B) Monotony — Variety

(D) Precept — Example

92. (A) Vacillate — Waver

(C) Undulate — Flow

(B) Oscillate — Stand

(D) Spiral — Drip

93. Choose the correct pair of words which are ANTONYMS of each other.

(A) Lazy — Indolent

(C) Entire — Total

(B) Glide — Drift

(D) Obligatory — Voluntary

94. Choose the option which will best replace the underlined words in the

sentence to make it correct :

“She done it to quick so it came out looking rough.”

(A) done it too quickly

(C) did it too quickly

(B) did it too quick

(D) did it to quickly

95. Choose the correct option which best explains the meaning of the idiom

“To give up the ghost”.
(A) To exorcise a ghost

(C) To be possessed by the devil

(B) To die

(D) To worship the devil
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96. The application letter and the resume perform :
(A) the same task (B) two opposite tasks

(C) overlapping tasks (D) two different tasks

Q. 97 to Q. 100 : Insert the correct options in the blank spaces :

97. The tenants were asked to throw all recyclable trash into __
(A) the green big plastic bag
(B) the big plastic green bag
(C) the big green plastic bag

(D) the green plastic big bag

98. The process uses an innovative digital technology the products with as

many colours as the image contains.
(A) that imprints it (B) that imprints

(C) that it imprints (D) that imprints on

99. I quoted it from .

(A) Mind (B) Heart
(C) Soul (D) Imagination
100. The company because of the prolonged strikes and lockouts.
(A) went into black (B) went into green
(C) went into yellow (D) went into red
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